t36_polyform
(TMGIU TrvAVNFtcixMfOW6P 1turZtjyz8Ssv)

October 27, 2020

Let v2_polyform : 1=0 be given. Let v3_polyform : 1=o0 be given. Let
vd_poly form : 1=-0 be given. Let [1_polyform : 1=>0 be given. Let vl_int_1 :
t=>0 be given. Let k11 _polyform : t=>1=- be given. Let k1l _vectsp.9 : t.=1=1
be given. Let k2_bspace : ¢ be given. Let k17_poly form : t=-1= be given. Let
kl_card_1 : 1=- be given. Let k9_bspace : 1=t be given. Let vl_finset_1: 1=0
be given. Let m1l_vectsp_T : t=1=-1=0 be given. Let k7_bspace : 1=t be given.
Let kb_card-1: 1=t be given. Let v2_struct_0 : t=-0 be given. Let vl_matrlin :
t=t=>0 be given. Let v13_algstr_0 : t=0 be given. Let v8_vectsp_1 : 1=1=0
be given. Let v9_vectsp_1 : t=1=>0 be given. Let v10_vectsp_1l : 1=1=0 be
given. Let v1l_ vectsp_1 : t=>1t=>0 be given. Let v2_rlvect_1 : t=-0 be given. Let
v3_rlvect_1 : 1=-0 be given. Let vd_rlvect_1 : 1=-0 be given. Let k8_polyform :
t=>t= be given. Let l1_vectsp_1 : t=>t=0 be given. Let v6_struct.0 : .=0 be
given. Let v33_algstr_0 : t=0 be given. Let v3_group_1 : t=>0 be given. Let
vh_group_1 : 1=-0 be given. Let v4d_vectsp_1 : 1=>0 be given. Let v5_vectsp_1 :
t=>0 be given. Let [6_algstr_0 : t=>0 be given. Let v7_ordinall : ==>0 be given.
Assume the following.

VX0.k1_card-1 (k9-bspace X0) = kl_card-1 X0 (1)
Assume the following.

VX0.(vl_finset_1 X0)=(ml_vectsp_T (k9_bspace X0) k2_bspace @)
(k7 bspace X0))

Assume the following.
VXO0.(vl-finset_1 X0)=(kb_card-1 X0 = kl_card-1 X0) (3)

Assume the following.

VX0.(vl-finset_1 X0)=((—v2_struct_0 (k7_-bspace X0))A (4)
(v1-matrlin (k7-bspace X0) k2_bspace))



Assume the following.

VX0.(—v2_struct 0 (k7_bspace X0))A((v13_algstr_0 (k7_bspace
X0))A((v8_vectsp_1 (k7 bspace X0) k2_bspace)\((v9-vectsp_1
(kT7-bspace X0) k2_bspace)\((v10_vectsp-1 (k7_bspace X0) k2_bspace)
((v1lwectsp-l (k7 _bspace X0) k2_bspace)A((v2-rlvect-1 (k7 _bspace
X0))A((v3-rlvect-1 (k7_bspace X0))A(vd_rlvect_1 (k7 bspace

X0)))))))

Assume the following.

VX0.YX1.(((v2-poly form X0)A((v3_poly form X0)A
((vd_poly form X0)A(I1_polyform X0))))A(vlint-1 X1))=(vl_finset_1
(k8_poly form X0 X1))
(6)

Assume the following.

VX0.(—v2_struct 0 (kT7_bspace X0))A(I1 vectsp_1 (k7_bspace (7)
X0) k2_bspace)

Assume the following.

(—v2_struct 0 k2_bspace) A((—v6_struct_0 k2_bspace)A((v13_algstr_0
k2_bspace)A((v33_algstr_0 k2_bspace) A\((v3_group-1 k2_bspace) A
((vb_group_1 k2_bspace)A((vd-vectsp-1 k2_bspace)A((vb_vectsp_1 (8)
k2_bspace) \((v2-rlvect_1 k2_bspace)A((v3_rlvect_1 k2_bspace)A

((vd_rlvect 1 k2 _bspace)A\(16_algstr_0 k2_bspace)))))))))))

Assume the following.

VX0.VX1.(((—v2-struct_ 0 X0)A((—vb_struct-0 X0)A
((v13_algstr_0 X0)A((v33_algstr 0 X0)A((v3_group-1 X0)A((v5_group_1
X0)A((vdvectsp-1 X0)A((v5vectsp-l X0)A((v2_rlvect-1 X0)A
((v3_rlvect-1 X0)A((vd-rlvect-1 X0)A(I6_algstr-0 X0))))))))))))A
((mv2_struct 0 X1)A((v13-algstr-0 X1)A((v8_vectsp-1 X1 X0)A
((v9-vectsp-1 X1 X0)A((v10_vectsp-1 X1 X0)A((v1lvectspl X1
XO0)A((v2_rlvect .1 X1)A((v3_rivect. 1 X1)A((v4drlvect 1 X1)A
(I1wectsp-1 X1 X0)))))))))))=(v7_ordinall (k1 vectsp9 X0 X1))
(9)

Assume the following.

VX0.((v2-poly form X0)A((v3_poly form X0)A((vd_poly form
X0)A(I1-poly form X0))))=(VX1.(vlint-1 X1)=(k11l_polyform (10)
X0 X1 =E5_card-1 (k8_polyform X0 X1)))



Assume the following.

VX0.((—v2_struct 0 X0)A((—v6_struct 0 X0)A((v13_algstr_0
X0)A((v33_algstr 0 X0)A((v3_group_1 X0)A((v5_group-1 X0)A(
(vd_vectsp-1 X0)A((vb-vectsp-1 XO)A((v2-rivect-1 X0)A((v3-rlvect_-1
X0)A((vd-rlvect-1 X0)A(16_algstr_0 X0))))))))))))=(VX1.
((mv2_struct 0 X1)A((v13-algstr-0 X1)A((v8_vectsp-1 X1 X0)A
((v9_vectsp_1 X1 X0)A((v10_vectsp-1 X1 X0)A((v1l vectsp.l X1
XO0)A((v2_rlvect 1 X1)A((v3_rivect_ 1 X1)A((v4drlvect 1 X1)A
(I1vectsp-1 X1 X0))))))))))=((vl-matrlin X1 X0)=(VX2.
(v7-ordinall X2)=((X2 = kl vectsp-9 X0 X1)=(VX3.(mlvectsp_7
X3 X0 X1)=(X2 =kl card1 X3))))))

(11)
Assume the following.

VX0.((v2_poly form X0)A((v3_poly form X0)A((vd_polyform
X0)A(I1_poly form X0))))=(VX1.(vlint-1 X1)=(k17_polyform (12)
X0 X1 = k7 bspace (k8_polyform X0 X1)))

Theorem 1

VX0.((v2-poly form X0)A((v3_poly form X0)A((v4_poly form
X0)A(I1-polyform X0))))=(VX1.(vlint-1 X1)=(k1l_polyform
X0 X1 = klvectsp-9 k2_bspace (k17_polyform X0 X1)))



